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200,000

2,000

THolLIE XIS U (HHRA X R) (AE)

Mo

e

,402,000
700,000
350,000
352,000

1,402,000

401 AIZHIZ 20

HH A

—y

,402,000
700,000
350,000
352,000

1,402,000

01 Al&HI
O&dZE AN X T HEIAIS

)

1,300,000
1,300,000
650,000

1,300,000




SA erE 2|t
B UHARKIS U HoK A=
S THoH Ol ALY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 325,000
s 325,000
02 Zeltl 100,000 0 100,000
OdE NAMMASMNEX T SHIAMY HE
Argeel 23 100,000
[ 50,000
= 25,000
= 25,000
03 AIZ2THYI 2,000 0 2,000
OdZE NAMNAZIMEX T FBIAME Al
Sasilsl 2,000
THOH I & XIS = (THSHRI & X =) (K1) 200,000 200,000
401 AIEHIZ SR 0HYI 200,000 200,000
01 Al&HI 200,000 200,000
OXZE KNATHHASINEX T SHIAL 200,000
SEAK SUAE XS EHI (HE3RIT) 100,000 0 100,000
= 50,000
< 25,000
[Ea 25,000
401 Al HIZL S 0HYI 100,000 0 100,000
= 50,000
=S 25,000
s 25,000
01 AlZ28| 100,000 0 100,000
OUIt HE3XT SIAHA SUASEXNSE &
HIAFS 100,000
= 50,000
S 25,000
o 25,000
ez BE8E UMY 40,000 0 40,000
401 AIEHIZ R HYI 40,000 40,000
01 Al&H| 40,000 40,000
OLNdEZ B8 JHIAML 40,000
STAK SUAS XS FHIAE 20,000 20,000
401 Al HIZ 2018 20,000 20,000
01 Al&H| 20,000 20,000
ODTAN HUOHH H2 U IWHAE B
& 20,000
NSO &= WH A 22,000 22,000
401 Al HIZ R 0HbI 22,000 22,000
01 AlZ28| 22,000 22,000
OkL= J|&2=ZH| WAl £X
22,000,000 * 14 2 22,000
SR 301,880 336,040 A34,160
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FA erE 2|t
B =5
el SFPXEAE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 4,000
s 297,880
SR 301,880 336,040 A34,160
= 4,000
= 297,880
HeHsa=+ 243,740 252,600 28,860
201 er2 3| 200,000 208,860 /8,860
01 AtR2telHl 200,000 208,860 8,860
OMoi== &t eit= 100,000
OMOoHAIMCHEl &Hl S Xt= 100,000
203 gF=4| 1,000 1,000
03 A=A =] 1,000 1,000
OXNAHILt 28 X3 1,000
302 01 Mot 2 &= 42,740 42,740
02 2N S e S22 42,740 42,740
Oty & 5+ FHAH M|
8,000&x10E & x 144 EH 5,600
Ol € 5+ 0 RFU
1,700& %100 £ x32* 14 SH 7,140
OMHXI&= 30,000
THEF AR CHE] 37,100 72,400 235,300
201 er23| 20,500 16,000 4,500
01 At2teltl 20,500 16,000 4,500
OXATHLNH] BEEHSH=L HME
30,0002 x50 1,500
OAE ?I¥a HFHxE(P, SEEE 8)
200,000 x5 =33 3,000
OEE= M 4,000
Oa=it 24 12,000
206 M=l 12,600 14,400 /1,800
01 M=4l 12,600 14,400 1,800
O HHES 7L 4,000
OoNd =58 & MM 28
100,000 * 145 H 1,400
OWSE XA HH] =X & 7,200
ObIER2el=0U S 7
1,000 %145 & *300H 4,200
Og=+x 5 =2&dl F¢ 3,000
405 KHaHE SH 4,000 42,000 /38,000
01 Tt =S F=HI 4,000 42,000 238,000
oxIIE 7e 2,000,000 2CH 4,000
EHEE(EX) 10,000 10,000 0
= 4,000
= 6.000
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SA: EBRID
Hm: =772

el SFPXEAE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 10,000 10,000 0
= 4,000
= 6.000
06 2= 10,000 10,000 0
OZ=+l28 f8= 20,0003 %500 10,000
= 4,000
o 6,000
E012& (XHAI) 1,040 1,040 0
201 2= 1,040 1,040
01 At22t2l] 1,040 1,040
OZ=oi=28 JtUEE 1,040
Osl4ot Mz o &
60,0003 *148H 840
OS2 It 4228 FY
1,000 *200% 200
L XAE X XA 10,000 0 10,000
402 2I2E X201 & 10,000 0 10,000
01 IR SASE X (XHMITHR) 10,000 0 10,000
O&==YXIANE &X X 10,000
MEOLM DBt & 1,427,607 1,339,948 87,659
=S 36,000
s 1,391,607
CCVSE2NHE =24 1,427,607 1,339,948 87,659
== 36,000
[Ea 1,391,607
2HHE 29 705,856 621,028 84,828
201 =3 705,856 621,028 84,828
01 At2t2lt] 326,405 3,700 322,705
Oggt=3H| 3,400
OSADL ZBE EH(EH)AZE 2
500,000 <22 1,000
o2y =2d 858 +¢
500,000 22 1,000
OGadEEHNID| 2dA|s HFA+E(
tHed) 100,000 *7& »23] 1,400
OzelEHl 323,005
OLH(XHHSIANZE TV KA Z+ 41,964
OYH(SZH)E TV KA 71,017
onr2ggE v |FAL+(d8H S&) 45,312
OWTVSE 2 HAIAE HW RXI24 77,556
OWCTVSEZHMAIAL SN RXI24= 87,156
02 S3=gHl 379,451 617,328 N237,877
0332 € MAl 379,451
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SA erE 2|
Hu: MSOIN JlE X4
CHel: (CVEEZHAME 2 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
occv&lIes 6,500 %3800 A 123 29,640
OlI=¢dgE 0V ald=
10,0003 x3502| &+ 123 42,000
ot Esldz
62,4003 3062 &4+ 12& 296,525
Oz SSUCIVSE2MME S dE2M
2(DRYISEIANTYS)
49,5002 x192] &4+ 12 11,286
ZHHIME D3t 298,000 254,036 43,964
405 AtatE = 298,000 254,036 43,964
01 ML ESF SHI 298,000 254,036 43,964
OZ MU CXE Ast 2 A= 100,000
O=otYH| 3 Se2CIALE 2= 86,400
OZMAAE == WM & 54 100,000
OSYNEEX(AELX) B4 30,000
OANHEARAX == WA 20,000
OSANARIX] == wX| 50,000
ofaZZ M ¢ 11,600
O E 1,033,000 «1CH 1,033
oAt E 329,230+ 110H 3,622
Ocl=s4 569,680« 11CH 6,157
OPCE 23,8702 +330H 788
CCTv £ X 303,751 388,884 A85,133
401 A2 HIRL 201 303,751 388,884 A85,133
01 Al&H| 294,000 377,000 /83,000
ogds CCv £X 261,000
OgE(MHEHZAA)E TV &l X
12,000, 0002 +2CH 24,000
OLH(XHHSIANZ TV == WAl
6,000,000 ~6CH 36,000
Oogg(sg4)& 1V &l &X
6,000,000 30CH 180,000
OgE(S34)E TV == uHl
3,000,000 *7CH 21,000
o2==-74l 33,000
OgHE IV ==
3,500,000 #32] 10,500
Olt=gdE IV 28=+4|
1,500,000& * 153/ 22,500
03 AIZ 2 THYI 9,751 11,884 A2,133
OgdEE CCIV &It &X| StN=EUS R
304, 7002 *320H A 9,751
Asg CCv X1 K& 120,000 76,000 44,000
[ 36,000
T 84,000
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od
i’
oF
uJ

-

KIO

Hlw

44,000
44,000

2,650
2,650
25,000
25,000
25,000

7,650
7,650
7,650

MEE
Ofl &k2h

76,000
76,000

81,400
81,400
30,000
30,000
30,000

51,400

51,400

Ofl &F2H

120,000
36,000
84,000

120,000

120,000
36,000
84,000
84,050
84,050
25,000
25,000
25,000
25,000
59,050
59,050
59,050

W

16,800
12,250
15,000
7,000
8,000
3,000
2,000
3,000
561,287
49,750

- HyS

- SRA(E) - HIRAY

S - B

OXsg CCv £X

01 A=l

401 AIZHIY 20

A
(=]

d

e

s

PN
o

At

&gt

g

A
=

F

(0]
)

=4
2t
off Ol 2 At

0
01 A=l

H Ol

401 AIZHIZ 20

CH XK

0l

ar
00

hay

50
X0
i)

H ol

0
01 AFS2t2ltl

CHXH

o0
=

100,000 +70&

3

7,0003 %2008~ 128
350,000 *36% A
7,500,000 *2

i ol

0

O

]

O
E
Y
H
KJ

CH XH o Ol

=
=)

=
=)

CHIH

=
S

=
=)

N35
A35
A35
N35

62,176

49,785
4,800
4,800
4,800

14,985

14,985

14,835

150

30,000

30,000

30,000

499, 11

4,800
4,800
4,800
4,800
14,950
14,950
14,800
7,800
7,000
150
150
30,000
30,000
30,000
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202 04|
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SN erERRID
M HAPAZH|(rE2e|Dt)
el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
|| o=uol 30,000
eIg =g 511,537 449,326 62,211
el2it| 511,537 449,326 62,211
101 @124H| 432,717 402,382 30,335
03 SRH(RIH )22 U2+ 348,519 402,382 N53,863
OZMZLIHREA 348,519
OJlzs 9,860& *160A12H+9. 5«14 209,821
OJE+g 100,0002%0.5EF «12& 11,400
OZEFIHI
9,860 *160AI 2++60%+9. 52 +23] 17,985
O=xs=g 9,860 *7 Al 2+x522+9 .58 34.0%
OfY2zsg
9,860 *7 Al 2k*1.5%182+9 .5 17,704
oort22=+¢
9,800 *54AI2+0.5+9.58 x 123 30,350
OYIt2 4|
9,860 *7AI2++9.5& x 11 7,213
oIS 50,0002 +9.5H 122 5,700
OXRgeig 125,000 %0.5EF «12& 14,250
M ORINZZE2NSE S 84,198 0 84,198
OZHZLIHRJAOIRIMZZXL) 84,198
OJlzs 9,860 x160AI2H+2. 58« 123 47,328
O=F5=+¢ 9,860 7 Al 2+x52d 2 5& 8,973
Oxg=z2=g
9,860 *7 Al 2k*1.5+18Lx2 . 5H 4,659
oort22=¢
9,800 54N 2+0.5+2 58« 123 7,987
Odxte=& 9,860 7 Al 2k 112%2 58 1,89
@Z1N k= K= 70,845,000 *13% 9.210
Ol &= 9,800 *7 Al 2Hx30 +2H 4,142
04 HSRESS 78,820 46,944 31,876
04 SR (RIHA)22N BE=RES S 78,820 46,944 31,876
o4th 22 & A3 78,820
o4l 288 348,519,000 *13% 45,308
(@RS 16,755,920 2 33,512
HeRas(erdae|t) 862,292 366,512 485,780
WS HH RIS (et 22| 1) 852,292 366,512 485,780
Met2edls &= 852,292 366,512 485,780
mRISHES 852,292 366,512 485,780
01 JIsdEsS 852,292 366,512 485,780
omst2eII2 MES(HEHE3) 437,292
oMaeDIZ ME3(C JISEXANY 2
g§3) 415,000
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